Wedie sday

Math Practice: Two- Step Word Problems (3. 0A8) &
Identfy Arvithmetc Patterns (3. 0A9)

Sohre .
1. BxB-21=

3. (30+5)+gq=7 q=

(3. 0A B) Wiite am equevtion axsd find dve soluion

Tomethy has 2bags of jellybeais. Eachbag
consists of © large jellybesis. Hi mmoom gaee hiom
Smmore large jelly be s . How oty je Iy beans
does e e onar?

Equaticoat:

Ansarer:

Saral isveadiyg 5 books atthe sane thne. Eaclh
book has € pages. ¥ shereads 10 pages a day henar
lonwyz wwill it take her to read a1l 5 books T

Erquaation:

Ansarer:

2 10+2+42=

4 llxB+g=60 g=
Josephihad 11lpackage s of skittles. Each package
Tad 10 skittle pieces. He gawe 20 skitle pieces to

his best friend. Hovw manty skitle piece s didhe
Tawre left foor hovse ¥ 7

Emquatica:

Arisaer:

Batrikialas ® boxes of erasers. Each boxholds 11
erasers. She gets © more erasers froomher teacher.
Hover maity erasels doe s Pabic ia hawe T

Emquatica:

Brisiaer:

(3. 0A ) Ideuify Aviflonetic Fabtberns . VWlest is tle snissing noenker 7
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